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fuxuøkhe

A

GUJARATI
(Gujarati Medium)

ÃkheûkkÚkeoyku {kxu yøkíÞLke Mkq[Lkkyku
(1) ík{Lku fnuðk{kt Lk ykðu íÞkt MkwÄe «&™ ÃkwÂMíkfk ¾ku÷ðe Lknª

(2) Ãkheûkk ËhBÞkLk ÃkheûkkÚkeo ÃkkMkuÚke fkuE Ãký MkkrníÞ økkRz, {køkoËŠþfk, fkÃk÷e, M÷eÃkku, yLÞ nMík r÷r¾ík fu r«Lxuz MkkrníÞ,
{kuçkkR÷ VkuLk, fu÷õÞw÷uxh,  MÃkkÞ fu{hk, nuz  VkuLk fu yLÞ ðeòýwt WÃkfhýku nkuðkLkwt sýkþu íkku ÃkheûkkÚkeoLku økuh÷kÞf
økýðk{kt ykðþu.

(3) [k÷w Ãkheûkk ËhBÞkLk ytËhkuytËh ðkík[eík fhðe, yðks fhðku fu MkwÃkhðkRÍhLke Mkq[LkkykuLkwt WÕ÷t½Lk fhðwt íku økuhrþMík
økýkþu.

(4) «&™Ãkºk {¤u fu íkhík s W¥khÃkºk (OMR SHEET) {kt rLkÞík fhu÷ søÞkyu ÃkkuíkkLkku çkuXf Lktçkh MðåA yûkhu ÷¾ðku.

(5) W¥khÃkºk (OMR SHEET) {kt rLkrùík søÞk rMkðkÞ ÃkheûkkÚkeoyu ÃkkuíkkLkku çkuXf ¢{ktf ÷¾ðku Lknª íkÚkk ÃkkuíkkLke ykøkðe
yku¤¾ Aíke ÚkkÞ íkuðe Lkk{ MkrníkLke yLÞ fkuE Ãký «fkhLke rLkþkLke fhðkLke Mkg {LkkE Au. íku{ Aíkkt Ãký fkuE Ãký rLkþkLke
fu yku¤¾ {k÷q{ Ãkzþu íkku íkuLku MktÃkqýo økuhrþMík økýðk{kt ykðþu yLku Ãkheûkk {kxu økuh÷kÞf økýðk{kt ykðþu.

(6) W¥khÃkºk (OMR SHEET) Lkk «{kýÃkºk{kt ÃkheûkkÚkeo íkÚkk MkwÃkhðkRÍh çktLkuLke Mkne VhSÞkík Au. çktLkuLke Mkne rðLkkLkk
W¥khÃkºk (OMR SHEET) Lkwt {wÕÞktfLk Úkþu Lknª. suÚke W{uËðkhu MkwÃkhðkRÍh©eLke Mkne yð~Þ {u¤ðe ÷uðe.

(7) ÃkheûkkÚkeoyu çÕÞw/ç÷uf çkku÷ÃkkuRLx ÃkuLkLkku WÃkÞkuøk fhe þfkþu. yLÞ þkne fu ÃkuLk fu ÃkuÂLMk÷ íkÚkk MkVuË þkneLkku WÃkÞkuøk fhe þfþu
Lknª.

(8) «&™Ãkºk{kt ykÃku÷ rðfÕÃkku{kt fkuEÃký «fkhLke rLkþkLke fhðe Lknª.
(9) yk fMkkuxe Ãkºk{kt fw÷ -200 «&™ku Au. «íÞuf «&™Lkku W¥kh A, B, C yLku D Ãkife fkuE yuf Au. Ëhuf «&™ {kxu [kh rðfÕÃkku

ykÃkðk{kt ykðu÷ Au. ík{khu çkÄk s «&™kuLkk W¥kh ykÃkðkLkk Au.
Wnknhý íkhefu : økwshkíkLkwt ÃkkxLkøkh fÞwt Au ?

(A) y{ËkðkË     (B)  økktÄeLkøkh (C)  ðzLkøkh   (D)  Ãkkxý
ynª sðkçk (B) økktÄeLkøkh sðkçk Mkk[ku nkuÞ, OMR SHEET {kt rðfÕÃk (B) Lkwt ðíkwo¤ ½qtxðkLkwt (Encode) fhðkLkwt ÚkkÞ.

(10) «íÞuf Mkk[k sðkçkËeX 1 (yuf) økwý {¤ðkÃkºk Úkþu. «íÞuf ¾kuxk Wííkh {kxu 0.25 økwý fÃkkþu (Lkuøkuxeð 0.25) òu W{uËðkh
fkuR «&™Lkku W¥kh ykÃkðk {ktøkíkk Lk nkuÞ íkku rðfÕÃk E  ÃkMktË fhðkLkku hnuþu. rðfÕÃk E  {kxu Lkuøkuxeð økwý hnuþu Lkne.

(11) AufAkfðk¤k sðkçk íkÚkk yufÚke ðÄkhu rðfÕÃk{kt ykÃku÷ sðkçk íkÚkk ç÷uz fu hççkh fu ðkRxLkh (MkVuË þkne) Lkku WÃkÞkuøk fhe
çkË÷kðu÷ sðkçk {kxu 0.25 Lkuøkuxeð økwý {¤þu.

(12) Ãkheûkk Ãkqhe ÚkÞk çkkË W¥khÃkºk (OMR SHEET) ç÷kuf MkwÃkhðkRÍhLku Ãkhík fÞko çkkË ðøko¾tz AkuzðkLkku hnuþu. íku{ fhðk{kt
fMkqh ÚkÞuÚke rþMík ¼tøkLkk Ãkøk÷kt økýe Ãkheûkk {kxu su íku W{uËðkhLku økuh÷kÞf Xuhððk{kt ykðþu.

(13) yk ÃkheûkkLkku Mk{Þ 180 r{rLkxLkku Au.
(14) MkkiÚke ÞkuøÞ rðfÕÃk sðkçk íkhefu æÞkLku ÷uðkþu .

A          C   D

ÃkheûkkÚkeoLkku çkuXf ¢{ktf

ÃkheûkkLkku ç÷kuf Lktçkh

ÃkheûkkÚkeoLke Mkne ç÷kuf MkwÃkðkRÍhLke Mkne
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(1) ‘MktrðÄkLkLku ðVkËkh hnuðkLke yLku íkuLkk ykËþkuo yLku MktMÚkkykuLkk hk»xÙæðsLkku yLku hk»xÙøkeíkLkku ykËh fhðkLke
òuøkðkE ¼khíkLkk MktrðÄkLkLke  fE f÷{{kt Ëþkoððk{kt ykðe Au ?’
(A) 51. f (f) (B) 51. f (A) (C) 51. f (z) (D) 51. f (øk)

(2) ¼khíkeÞ MktrðÄkLkLkk ¼køk-4{kt ‘hksLkeríkLkk {køkoËþof rMkØktíkku’ Lke òuøkðkE fE f÷{Úke õÞkt MkwÄeLke f÷{{kt
fhðk{kt ykðu÷ Au ?
(A) 36 Úke 45 (B) 35 Úke 48 (C) 34 Úke 50 (D) 36 Úke 51

(3) ËrhÞkLkk s¤Lkwt ½Lkíð (Density) ðÄíkwt òÞ Au, íku{ íku{......
(A) ôzký yLku ¾khkþ ½xu Au. (B) ôzký ðÄu Au yLku ¾khkþ ½xu Au.
(C) ôzký ½xu Au yLku ¾khkþ ðÄu Au. (D) ôzký yLku ¾khkþ ðÄu Au.

(4) ¼khíkLke «k[eLkík{ Vwxçkkì÷ xqLkko{uLx fE Au ?
(A) Mktíkku»k xÙkVe (B) zqhtz fÃk
(C) hkuðMko fÃk (D) ykR. yuV. yu. þeÕz

(5) nzÃÃkk MktMf]ríkLkk «{w¾ MÚk¤ ‘÷kuÚk÷’Lke þkuÄ fkuýu fhe níke ?
(A) ðe.ze. þ{ko (B) Þ¿kË¥k þ{ko
(C) yuMk. ykh. hkð (D) «kì. Mkwhs¼kLk

(6) ðÄkhu {unMkw÷ «krÃík {kxu fhðuhk W½hkððkLkk MktË¼o{kt rðfkMkLkk nuíkwÚke fÞk fk¤Lku «{w¾ {kLkðk{kt ykðu Au ?
(A) {kuÞofk¤ (B) W¥kh ðirËffk¤
(C) økwÃíkfk¤ (D) Aêe þíkkÂçË EMðe. Ãkqðo

(7) «kÚkr{f rþûký{kt «ðuþ {kxu ÷tçkkðu÷e {wÆík, þk¤kLkk þiûkrýf ð»ko þY ÚkÞkÚke fux÷k {rnLkk MkwÄeLke hnuþu ?
(A) 5 {rnLkk (B) 3 {rnLkk (C) 9 {rnLkk (D) 6 {rnLkk

(8) hk»xÙeÞ rþûkýLkerík-2020 {kt Mkk{krsf yLku ykŠÚkf heíku ÃkAkík rðMíkkhku {kxu rðãkÚkeoyku yLku rþûkfLkku hurþÞku
fux÷ku rLkÄkorhík fhu÷ Au ?
(A) 30:1 (B) 35:1 (C) 25:1 (D) 20:1

(9) hk»xÙeÞ rþûkýLkerík-2020{kt LkuþLk÷ õÞwheõÞw÷{ £u{ðfoLku fux÷k ð»ko{kt heðkRÍz yLku yãíkLk hk¾ðkLke ¼÷k{ý
fhðk{kt ykðu÷ Au ?
(A) Ãkkt[ ð»ko (B) ºký ð»ko (C) ykX ð»ko (D) «ríkð»ko

(10) ‘ßÞkt MkwÄe {kík]¼k»kk (økwshkíke)Lku nwt Wå[ MÚkkLk Ãkh Lknª {qfwt íÞkt MkwÄe nwt Ãkk½ze Lknª çkktÄw’ yuðwt fkuýu fÌkwt níkwt ?
(A) frð «u{kLktË (B) frð Lk{oË (C) frð f÷kÃke (D) frð MkwLËh{T

(11) ‘rðï ðMkíke rËLk’ õÞkhu Wsððk{kt ykðu Au ?
(A) 11 ykìøkMx (B) 11 ykuõxkuçkh (C) 11 sqLk (D) 11 sw÷kE

(12) ykøkk{e ykì÷eBÃkef fE søÞkyu ÞkuòLkkh Au ?
(A) òÃkkLk (xkuõÞku) (B) [eLk (þkt½kE)
(C) £kLMk (ÃkuheMk) (D) $ø÷uLz (÷tzLk)
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(13) Lkðe ¾kLkøke {kæÞr{f þk¤kLke {tsqhe fkuý ykÃku Au ?
(A) rsÕ÷krþûkýkrÄfkhe (B) rLkÞk{f, þk¤kykuLke f[uhe
(C) rþûký Mkr[ð - rþûký rð¼køk (D) økwshkík {kæÞr{f yLku W.{k. rþûký çkkìzo

(14) ‘{khu xkuz÷u çkuXku hu {kuh’ økeíkLku fkuýu r[hM{hýeÞ fÞwO ?
(A) Ë{Þtíke çkhzkE (B) {eLkkçkuLk Ãkxu÷
(C) rËðk¤eçkuLk ¼e÷ (D) økeíkkçkuLk hçkkhe

(15) ¼khíkLkwt fÞwt Lkøkh ‘rMkr÷fkuLk ðu÷e’ íkhefu òýeíkwt çkLÞwt Au ?
(A) rËÕ÷e (B) {wtçkE (C) f÷f¥kk (D) çktuøk÷wY

(16) nk÷{kt økwshkík{kt ðÕzo çkìtfLkk ðzk íku{s y{urhfkLkk xÙuÍhe Mku¢uxheyu Lke[u Ãkife fE þiûkrýf MktMÚkkLke {w÷kfkík
÷eÄe níke ?
(A) S.Mke.E.ykh.xe. (B) rðãk Mk{eûkk fuLÿ
(C) økwshkík ÞwrLkðŠMkxe (D) ykÞwðuoË ÞwrLkðŠMkxe

(17) Ëqhðíkeo rþûký{kt yÇÞkMk fuðe heíku ÚkE þfu ?
(A) fkì÷us økútÚkk÷Þ{kt AÃkkÞu÷e yæÞÞLk Mkk{økúe îkhk
(B) ßÞkt hnuíkk nkuÞ íÞkt {kæÞ{ku îkhk íkÚkk AÃkkÞu÷e yæÞÞLk Mkk{økúe îkhk
(C) fkì÷us{kt yæÞÞLkLke rðrðÄ ÃkØríkyku îkhk
(D) fkì÷us{kt nkshe ykÃÞk rMkðkÞ Mð«ÞíLkku îkhk

(18) ‘rþûký{kt MktÃkqýo økwýð¥kk ÔÞðMÚkkÃkLk’ ÃkwMíkfLkk ÷u¾f fkuý Au ?
(A) «kì. ÞþÃkk÷ (B) zkì. økwýðtík þkn
(C) «kì. {{oh {w¾kuÃkkæÞkÞ (D) zkì. ¼ÿkÞw ðåAhkòLke

(19) fuLÿ Mkhfkh îkhk þY fhðk{kt ykðu÷e ‘rðãktsr÷’ ÞkusLkk þkLkk {kxu Au ?
(A) ðkt[Lk rðfMkkððk {kxuLke ÞkusLkk
(B) þk¤k ÃkwMíkfk÷Þ Mk{]Ø çkLkkððk ÃkwMíkf ËkLk {kxuLke ÞkusLkk
(C) þk¤kLke rðrðÄ þiûkrýf «r¢Þk{kt hMk Ähkðíkkt Mk{ksLkk ÔÞÂõíkyku {kxu rþûký ËkLk {kxuLke ÞkusLkk
(D) Lkçk¤k çkk¤fkuLku Ë¥kf ÷E Mk½Lk rþûký ykÃkðkLke ÞkusLkk

(20) 21 {e MkËeLkk ÃkzfkhkuLku ÃknkU[e ð¤ðk {kxu zu÷kuMko rhÃkkuxo Learning The Treasure within {kt rþûkýLkk fÞk çku
Míkt¼Lkku WÕ÷u¾ fÞkuo Au ?
(i) xfkW rðfkMk «kÃík fhíkkt þe¾ðwt.
(ii) þktríkÃkqýo MknyÂMíkíð rMkØ fhíkkt þe¾ðwt.
(iii) þe¾íkkt þe¾ðwt
(iv) MknSðLk þe¾ðwt
(A) i, ii (B) i, iii (C) iii, iv (D) ii, iii

(21) fÞwt ÷ûký yðirÄf rþûkýLkwt Au ?
(A) Ãkheûkk yLku MkŠxrVfuxLkwt {n¥ð (B) þe¾ðLkkhLke Wå[ ÷kÞfkík
(C) çkk¤f{kt SðLk-fkiþÕÞkuLkku rðfkMk fhðkLkku WÆuþ (D) Mkkûkhíkk fhíkkt ykSrðfk÷ûke rþûký Ãkh ¼kh
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(13) Lkðe ¾kLkøke {kæÞr{f þk¤kLke {tsqhe fkuý ykÃku Au ?
(A) rsÕ÷krþûkýkrÄfkhe (B) rLkÞk{f, þk¤kykuLke f[uhe
(C) rþûký Mkr[ð - rþûký rð¼køk (D) økwshkík {kæÞr{f yLku W.{k. rþûký çkkìzo

(14) ‘{khu xkuz÷u çkuXku hu {kuh’ økeíkLku fkuýu r[hM{hýeÞ fÞwO ?
(A) Ë{Þtíke çkhzkE (B) {eLkkçkuLk Ãkxu÷
(C) rËðk¤eçkuLk ¼e÷ (D) økeíkkçkuLk hçkkhe

(15) ¼khíkLkwt fÞwt Lkøkh ‘rMkr÷fkuLk ðu÷e’ íkhefu òýeíkwt çkLÞwt Au ?
(A) rËÕ÷e (B) {wtçkE (C) f÷f¥kk (D) çktuøk÷wY

(16) nk÷{kt økwshkík{kt ðÕzo çkìtfLkk ðzk íku{s y{urhfkLkk xÙuÍhe Mku¢uxheyu Lke[u Ãkife fE þiûkrýf MktMÚkkLke {w÷kfkík
÷eÄe níke ?
(A) S.Mke.E.ykh.xe. (B) rðãk Mk{eûkk fuLÿ
(C) økwshkík ÞwrLkðŠMkxe (D) ykÞwðuoË ÞwrLkðŠMkxe

(17) Ëqhðíkeo rþûký{kt yÇÞkMk fuðe heíku ÚkE þfu ?
(A) fkì÷us økútÚkk÷Þ{kt AÃkkÞu÷e yæÞÞLk Mkk{økúe îkhk
(B) ßÞkt hnuíkk nkuÞ íÞkt {kæÞ{ku îkhk íkÚkk AÃkkÞu÷e yæÞÞLk Mkk{økúe îkhk
(C) fkì÷us{kt yæÞÞLkLke rðrðÄ ÃkØríkyku îkhk
(D) fkì÷us{kt nkshe ykÃÞk rMkðkÞ Mð«ÞíLkku îkhk

(18) ‘rþûký{kt MktÃkqýo økwýð¥kk ÔÞðMÚkkÃkLk’ ÃkwMíkfLkk ÷u¾f fkuý Au ?
(A) «kì. ÞþÃkk÷ (B) zkì. økwýðtík þkn
(C) «kì. {{oh {w¾kuÃkkæÞkÞ (D) zkì. ¼ÿkÞw ðåAhkòLke

(19) fuLÿ Mkhfkh îkhk þY fhðk{kt ykðu÷e ‘rðãktsr÷’ ÞkusLkk þkLkk {kxu Au ?
(A) ðkt[Lk rðfMkkððk {kxuLke ÞkusLkk
(B) þk¤k ÃkwMíkfk÷Þ Mk{]Ø çkLkkððk ÃkwMíkf ËkLk {kxuLke ÞkusLkk
(C) þk¤kLke rðrðÄ þiûkrýf «r¢Þk{kt hMk Ähkðíkkt Mk{ksLkk ÔÞÂõíkyku {kxu rþûký ËkLk {kxuLke ÞkusLkk
(D) Lkçk¤k çkk¤fkuLku Ë¥kf ÷E Mk½Lk rþûký ykÃkðkLke ÞkusLkk

(20) 21 {e MkËeLkk ÃkzfkhkuLku ÃknkU[e ð¤ðk {kxu zu÷kuMko rhÃkkuxo Learning The Treasure within {kt rþûkýLkk fÞk çku
Míkt¼Lkku WÕ÷u¾ fÞkuo Au ?
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(ii) þktríkÃkqýo MknyÂMíkíð rMkØ fhíkkt þe¾ðwt.
(iii) þe¾íkkt þe¾ðwt
(iv) MknSðLk þe¾ðwt
(A) i, ii (B) i, iii (C) iii, iv (D) ii, iii

(21) fÞwt ÷ûký yðirÄf rþûkýLkwt Au ?
(A) Ãkheûkk yLku MkŠxrVfuxLkwt {n¥ð (B) þe¾ðLkkhLke Wå[ ÷kÞfkík
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(A) rËÕ÷e (B) {wtçkE (C) f÷f¥kk (D) çktuøk÷wY
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(D) Lkçk¤k çkk¤fkuLku Ë¥kf ÷E Mk½Lk rþûký ykÃkðkLke ÞkusLkk

(20) 21 {e MkËeLkk ÃkzfkhkuLku ÃknkU[e ð¤ðk {kxu zu÷kuMko rhÃkkuxo Learning The Treasure within {kt rþûkýLkk fÞk çku
Míkt¼Lkku WÕ÷u¾ fÞkuo Au ?
(i) xfkW rðfkMk «kÃík fhíkkt þe¾ðwt.
(ii) þktríkÃkqýo MknyÂMíkíð rMkØ fhíkkt þe¾ðwt.
(iii) þe¾íkkt þe¾ðwt
(iv) MknSðLk þe¾ðwt
(A) i, ii (B) i, iii (C) iii, iv (D) ii, iii

(21) fÞwt ÷ûký yðirÄf rþûkýLkwt Au ?
(A) Ãkheûkk yLku MkŠxrVfuxLkwt {n¥ð (B) þe¾ðLkkhLke Wå[ ÷kÞfkík
(C) çkk¤f{kt SðLk-fkiþÕÞkuLkku rðfkMk fhðkLkku WÆuþ (D) Mkkûkhíkk fhíkkt ykSrðfk÷ûke rþûký Ãkh ¼kh

(5/24)GUJARATI  (A)

(22) ðøko-rþûký Ëhr{ÞkLk ykËþoðkËe rþûkf Lke[uLkk Ãkife fE ÃkØríkLkku WÃkÞkuøk Lknª fhu ?
(A) ykøk{Lk (B) [[ko-MktðkË (C) «§ku¥khe (D) «ð[Lk

(23) økktÄeSyu ykÃku÷e rþûkýLke ÔÞkÏÞk{kt rþûkýLkwt fÞwt æÞuÞ «økx ÚkkÞ Au ?
(A) ÔÞÂõík÷ûke (B) Mkk{krsf (C) rðrþü (D) ykæÞkÂí{f

(24) “çkk¤f yu ftE «kiZLke ÷½w ykð]r¥k LkÚke.” - yk øk]neík/Äkhýk fkuýu hsq fhe ?
(A) zâqE (B) YMkku (C) Ã÷uxku (D) Mkku¢uxeMk

(25) rþûkýLkk ºký ‘ðkË’ yLku íku{kt Mðef]ík ÚkÞu÷k rðãkÚkeoLkk MðYÃk ytøkuLkk ÏÞk÷kuLku ÞkuøÞ heíku òuzku :
1. ykËþoðkË Mkk{krsf MðYÃk
2. «f]ríkðkË ykÂí{f MðYÃk
3. ÔÞðnkhðkË þkherhf MðYÃk
Mkk[ku rðfÕÃk ÃkMktË fhku.
(A) (B)
(C) (D)

(26) “ðkMíkðLkk MðYÃkLkwt íkkŠff yLðu»ký yu ík¥ð¿kkLk Au.” - yk ÔÞkÏÞk fkuýu ykÃke Au ?
(A) zkì. hkÄkf]»ýLkT (B) {nŠ»k yh®ðË
(C) hrðLÿLkkÚk xkøkkuh (D) su. f]»ý{qŠík

(27) Lke[uLkk{ktÚke fE «r¢Þk - Mkk[e heíku ykøk¤ ðÄu Au ?
(A) ík¥ð¿kkLk - rþûký WÆuþku - ÃkkXâ¢{ - yÇÞkMk¢{
(B) ík¥ð¿kkLk - rþûký WÆuþku - yÇÞkMk¢{ - ÃkkXâ¢{
(C) rþûký WÆuþku - ík¥ð¿kkLk - yÇÞkMk¢{ - ÃkkXâ¢{
(D) ÃkkXâ¢{ - yÇÞkMk¢{ - ík¥ð¿kkLk - rþûký WÆuþku

(28) “rðãkÚkeo{kt hnu÷k MkËTytþku, MkËTð]r¥kyku yLku MkwÁr[ykuu òøk]ík fhðkLkwt, rðfMkkððkLkwt yLku ÞkuøÞ {køkuo
ðk¤ðkLkwt fk{ fu¤ðýeLkwt Au ?” - yk rð[kh fkuýu ykÃÞku ?
(A) rðLkkuçkkS (B) LkkLkk¼kE ¼è
(C) økktÄeS (D) ©e yh®ðË

(29) rþûkýLke fE rð[khÄkhk{kt ðMíkw fhíkkt rð[khLku ðÄw {n¥ð ykÃkðk{kt ykðu Au ?
(A) «f]ríkðkË (B) ykËþoðkË
(C) ÔÞðnkhðkË (D) yÂMíkíððkË

(30) ÔÞðnkhðkË yLkwMkkh rþûký ykÃkðkLkk nuíkwyku MktË¼uo fÞku nuíkw ÞkuøÞ LkÚke ?
(A) çkk¤f yLkw¼ð {¤íkk s Lkðk «fkhLkk ¿kkLkLkwt MksoLk fhu Au.
(B) çkk¤f{kt MksoLkkí{f þÂõíkLkku rðfkMk fhðku òuEyu.
(C) çkk¤fLkku ykæÞkÂí{f rðfkMk fhðku òuEyu.
(D) çkk¤fLku Mk{MÞk Wfu÷ heíkÚke ðkfuV fhðku òuEyu.

ENGLISH  (A) 
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(31) Mk{økú SðLkLke yøkeÞkh yðMÚkkyku Ãkife Lke[u ykÃku÷e yðMÚkkykuLku ¢{kLkwMkkh økkuXðku.
(A) çkkÕÞkðMÚkk
(B) ð]ØkðMÚkk
(C) «khtr¼f ÃkwÏíkkðMÚkk
(D) {æÞðÞ
(E) «khtr¼f çkkÕÞkðMÚkk

(A) E, A, B, C, D (B) A, E, C, D, B (C) A, E, D, C, B (D) A, E, B, C, D

(32) yæÞkÃkLk {Lkkurð¿kkLk .......
(A) ðkíkkðhýLke ËuLk Au.
(B) ðkhMkku yLku ðkíkkðhýLke ðå[uLke yktíkhr¢ÞkLkwt Ãkrhýk{ Au.
(C) ðkhMkkLkwt yMkhLkwt Ãkrhýk{ Au.
(D) su {Lkkurð¿kkLkLkk rMkØktíkkuLkk WÃkÞkuøk îkhk yæÞÞLkLke «r¢ÞkLke MkwÄkhýk {kxu rMkØktíkku yLku rLkÞ{ku ykÃku Au.

(33) ynt - ykËþoLke h[Lkk yu fE yðMÚkk Ëhr{ÞkLk ÔÞÂõíkíð rðfkMkLkwt ÷ûký Au ?
(A) íkwhwýkðMÚkk (B) «khtr¼f çkkÕÞkðMÚkk (C) W¥kh - çkkÕÞkðMÚkk (D) ð]ØkðMÚkk

(34) rMkØktíkku yLku íkuLkk sLkfLkkt Mkk[kt òuzfkt çkLkkðku.
1) çknw yðÞð rMkØktík a) økku÷{uLk
2) Mkktðurøkf çkwrØ rMkØktík b) MxuLkoçkøko
3) çknwrðÄçkwrØ rMkØktík c) ÚkMxoLk
4) rºk-MðYrÃkÞ çkwrØrMkØktík d) økkzoLkh
(A) 1) c, 2) a, 3) d, 4) b (B) 1) a, 2) c, 3) b, 4) d
(C) 1) d, 2) c, 3) b, 4) a (D) 1) a, 2) b, 3) d, 4) c

(35) þiûkrýf {Lkkurð¿kkLkLkwt ¿kkLk Ähkðíkk rþûkf...
1) rðãkÚkeoLke fûkkLku yLkwYÃk yæÞkÃkLkLke íkiÞkhe fhu Au.
2) ÞkuøÞ ÍzÃku ykøk¤ ðÄu Au.
3) rþûkf îkhk hsq Úkíkwt rð»kÞðMíkw rðãkÚkeoLke ûk{íkkLku yLkwYÃk nkuÞ Au.
(A) (1) yLku (2) Mkk[kt Au. (B) (2) yLku (3) Mkk[kt Au.
(C) (1), (2) yLku (3) Mkk[kt Au. (D) (1) yLku (3) Mkk[kt Au.

(36) yæÞÞLkLkk rLkÞ{ku (Laws of Learning) MktË¼uo Lke[u Ãkife fÞku rLkÞ{ ÷køkw Ãkzíkku LkÚke ?
(A) yMkhLkku rLkÞ{ (B) ÃkwLkhkðíkoLkLkku rLkÞ{ (C) ¼q÷Lkku rLkÞ{ (D) íkíÃkhíkkLkku rLkÞ{

(37) fE yæÞÞLk ÃkØrík îkhk rðãkÚkeoyku ‘fE heíku þe¾ðwt’ íku þe¾u Au ?
(A) «ÞíLk yLku ¼q÷ (B) fkhf yr¼MktÄkLk
(C) Ehý ½xkzkLkku rMkØktík (D) yLðu»kýkí{f yæÞÞLk

(38) ‘ÃkkuíkkLkk Ëku»kku çkeò{kt òuðkLkku «ÞíLk fhðku.’ - yk fÞk «fkhLke çk[kð «ÞwÂõík Au ?
(A) «ûkuÃký (B) Ë{Lk (C) MÚkrøkíkíkk (D) «kÞrùík

ENGLISH  (A) 



(6/24)GUJARATI  (A)

(31) Mk{økú SðLkLke yøkeÞkh yðMÚkkyku Ãkife Lke[u ykÃku÷e yðMÚkkykuLku ¢{kLkwMkkh økkuXðku.
(A) çkkÕÞkðMÚkk
(B) ð]ØkðMÚkk
(C) «khtr¼f ÃkwÏíkkðMÚkk
(D) {æÞðÞ
(E) «khtr¼f çkkÕÞkðMÚkk

(A) E, A, B, C, D (B) A, E, C, D, B (C) A, E, D, C, B (D) A, E, B, C, D

(32) yæÞkÃkLk {Lkkurð¿kkLk .......
(A) ðkíkkðhýLke ËuLk Au.
(B) ðkhMkku yLku ðkíkkðhýLke ðå[uLke yktíkhr¢ÞkLkwt Ãkrhýk{ Au.
(C) ðkhMkkLkwt yMkhLkwt Ãkrhýk{ Au.
(D) su {Lkkurð¿kkLkLkk rMkØktíkkuLkk WÃkÞkuøk îkhk yæÞÞLkLke «r¢ÞkLke MkwÄkhýk {kxu rMkØktíkku yLku rLkÞ{ku ykÃku Au.

(33) ynt - ykËþoLke h[Lkk yu fE yðMÚkk Ëhr{ÞkLk ÔÞÂõíkíð rðfkMkLkwt ÷ûký Au ?
(A) íkwhwýkðMÚkk (B) «khtr¼f çkkÕÞkðMÚkk (C) W¥kh - çkkÕÞkðMÚkk (D) ð]ØkðMÚkk

(34) rMkØktíkku yLku íkuLkk sLkfLkkt Mkk[kt òuzfkt çkLkkðku.
1) çknw yðÞð rMkØktík a) økku÷{uLk
2) Mkktðurøkf çkwrØ rMkØktík b) MxuLkoçkøko
3) çknwrðÄçkwrØ rMkØktík c) ÚkMxoLk
4) rºk-MðYrÃkÞ çkwrØrMkØktík d) økkzoLkh
(A) 1) c, 2) a, 3) d, 4) b (B) 1) a, 2) c, 3) b, 4) d
(C) 1) d, 2) c, 3) b, 4) a (D) 1) a, 2) b, 3) d, 4) c

(35) þiûkrýf {Lkkurð¿kkLkLkwt ¿kkLk Ähkðíkk rþûkf...
1) rðãkÚkeoLke fûkkLku yLkwYÃk yæÞkÃkLkLke íkiÞkhe fhu Au.
2) ÞkuøÞ ÍzÃku ykøk¤ ðÄu Au.
3) rþûkf îkhk hsq Úkíkwt rð»kÞðMíkw rðãkÚkeoLke ûk{íkkLku yLkwYÃk nkuÞ Au.
(A) (1) yLku (2) Mkk[kt Au. (B) (2) yLku (3) Mkk[kt Au.
(C) (1), (2) yLku (3) Mkk[kt Au. (D) (1) yLku (3) Mkk[kt Au.

(36) yæÞÞLkLkk rLkÞ{ku (Laws of Learning) MktË¼uo Lke[u Ãkife fÞku rLkÞ{ ÷køkw Ãkzíkku LkÚke ?
(A) yMkhLkku rLkÞ{ (B) ÃkwLkhkðíkoLkLkku rLkÞ{ (C) ¼q÷Lkku rLkÞ{ (D) íkíÃkhíkkLkku rLkÞ{

(37) fE yæÞÞLk ÃkØrík îkhk rðãkÚkeoyku ‘fE heíku þe¾ðwt’ íku þe¾u Au ?
(A) «ÞíLk yLku ¼q÷ (B) fkhf yr¼MktÄkLk
(C) Ehý ½xkzkLkku rMkØktík (D) yLðu»kýkí{f yæÞÞLk

(38) ‘ÃkkuíkkLkk Ëku»kku çkeò{kt òuðkLkku «ÞíLk fhðku.’ - yk fÞk «fkhLke çk[kð «ÞwÂõík Au ?
(A) «ûkuÃký (B) Ë{Lk (C) MÚkrøkíkíkk (D) «kÞrùík

ENGLISH  (A) (6/24)GUJARATI  (A)

(31) Mk{økú SðLkLke yøkeÞkh yðMÚkkyku Ãkife Lke[u ykÃku÷e yðMÚkkykuLku ¢{kLkwMkkh økkuXðku.
(A) çkkÕÞkðMÚkk
(B) ð]ØkðMÚkk
(C) «khtr¼f ÃkwÏíkkðMÚkk
(D) {æÞðÞ
(E) «khtr¼f çkkÕÞkðMÚkk

(A) E, A, B, C, D (B) A, E, C, D, B (C) A, E, D, C, B (D) A, E, B, C, D

(32) yæÞkÃkLk {Lkkurð¿kkLk .......
(A) ðkíkkðhýLke ËuLk Au.
(B) ðkhMkku yLku ðkíkkðhýLke ðå[uLke yktíkhr¢ÞkLkwt Ãkrhýk{ Au.
(C) ðkhMkkLkwt yMkhLkwt Ãkrhýk{ Au.
(D) su {Lkkurð¿kkLkLkk rMkØktíkkuLkk WÃkÞkuøk îkhk yæÞÞLkLke «r¢ÞkLke MkwÄkhýk {kxu rMkØktíkku yLku rLkÞ{ku ykÃku Au.

(33) ynt - ykËþoLke h[Lkk yu fE yðMÚkk Ëhr{ÞkLk ÔÞÂõíkíð rðfkMkLkwt ÷ûký Au ?
(A) íkwhwýkðMÚkk (B) «khtr¼f çkkÕÞkðMÚkk (C) W¥kh - çkkÕÞkðMÚkk (D) ð]ØkðMÚkk

(34) rMkØktíkku yLku íkuLkk sLkfLkkt Mkk[kt òuzfkt çkLkkðku.
1) çknw yðÞð rMkØktík a) økku÷{uLk
2) Mkktðurøkf çkwrØ rMkØktík b) MxuLkoçkøko
3) çknwrðÄçkwrØ rMkØktík c) ÚkMxoLk
4) rºk-MðYrÃkÞ çkwrØrMkØktík d) økkzoLkh
(A) 1) c, 2) a, 3) d, 4) b (B) 1) a, 2) c, 3) b, 4) d
(C) 1) d, 2) c, 3) b, 4) a (D) 1) a, 2) b, 3) d, 4) c

(35) þiûkrýf {Lkkurð¿kkLkLkwt ¿kkLk Ähkðíkk rþûkf...
1) rðãkÚkeoLke fûkkLku yLkwYÃk yæÞkÃkLkLke íkiÞkhe fhu Au.
2) ÞkuøÞ ÍzÃku ykøk¤ ðÄu Au.
3) rþûkf îkhk hsq Úkíkwt rð»kÞðMíkw rðãkÚkeoLke ûk{íkkLku yLkwYÃk nkuÞ Au.
(A) (1) yLku (2) Mkk[kt Au. (B) (2) yLku (3) Mkk[kt Au.
(C) (1), (2) yLku (3) Mkk[kt Au. (D) (1) yLku (3) Mkk[kt Au.

(36) yæÞÞLkLkk rLkÞ{ku (Laws of Learning) MktË¼uo Lke[u Ãkife fÞku rLkÞ{ ÷køkw Ãkzíkku LkÚke ?
(A) yMkhLkku rLkÞ{ (B) ÃkwLkhkðíkoLkLkku rLkÞ{ (C) ¼q÷Lkku rLkÞ{ (D) íkíÃkhíkkLkku rLkÞ{

(37) fE yæÞÞLk ÃkØrík îkhk rðãkÚkeoyku ‘fE heíku þe¾ðwt’ íku þe¾u Au ?
(A) «ÞíLk yLku ¼q÷ (B) fkhf yr¼MktÄkLk
(C) Ehý ½xkzkLkku rMkØktík (D) yLðu»kýkí{f yæÞÞLk

(38) ‘ÃkkuíkkLkk Ëku»kku çkeò{kt òuðkLkku «ÞíLk fhðku.’ - yk fÞk «fkhLke çk[kð «ÞwÂõík Au ?
(A) «ûkuÃký (B) Ë{Lk (C) MÚkrøkíkíkk (D) «kÞrùík

(7/24)GUJARATI  (A)

(39) yurhf yurhfþLkLkk {íku ÔÞÂõíkíð Ãkh yMkh fhíkkt Ãkrhçk¤ku Ãkife Lke[uLkk{ktÚke fÞwt ÷køkwt Ãkzíkwt LkÚke ?
(A) yn{T (B) Mkk{krsfíkk (C) MktMf]rík (D) ykLkwðtrþfíkk

(40) Lke[uLkk Ãkife fE çkkçkík þkMºkeÞ yr¼MktÄkLk {kxu ÷køkw Ãkzíke LkÚke ?
(A) Ãkkð÷kuðu fqíkhk Ãkh «Þkuøkku fhe yk yr¼MktÄkLkLkku rMkØktík ykÃÞku.
(B) yk yr¼MktÄkLk{kt WÆeÃkf nkuðku sYhe Au.
(C) yk yLkwMktÄkLk R «fkhLkwt yr¼MktÄkLk Ãký fnuðkÞ Au.
(D) {wÏÞ WÆeÃkf MkkÚku økkiý WÆeÃkf {qfðk{kt ykðu Au.

(41) ÔÞÂõíkLku fkuE ðMíkw, yLÞ ÔÞÂõík fu «ð]r¥k Ãkh æÞkLk ykÃkðk {kxu «urhík fhíke þÂõík yux÷u þwt ?
(A) «uhýk (B) çkwrØ
(C) hMk (yr¼hwr[) (D) yr¼ÞkuøÞíkk

(42) yæÞÞLk «r¢ÞkLke Mk{s «Þkuøkku îkhk ykÃkLkkh{kt Lke[uLkk Ãkife fkuLkku Mk{kðuþ Úkíkku LkÚke ?
(A) Ãkkð÷kuð (B) MfeLkh (C) MxÙkUøk (D) ÚkkuLkozkRf

(43) økrýík{kt rLk»V¤ sLkkh ÔÞÂõík ßÞkhu r[ºkfk{{kt «kðeÛÞ {u¤ðeLku rMkrØ nktMk÷ fhu íkku íkuLku fE
çk[kð«ÞwÂõík fnuðkÞ ?
(A) ÞkiÂõíkfefhý (B) «ûkuÃký
(C) Qæðeofhý (D) ûkríkÃkqŠík

(44) {uË «ÄkLk yLku MLkkÞw «ÄkLk yuðk ÔÞÂõíkíðLkk «fkhku fÞk {Lkkuði¿kkrLkfu hsq fÞko Au ?
(A) þuÕzLk (B) x{uoLk (C) Þwtøk (D) ¢uþ{h

(45) 1927{kt Ãkkt[ rð¼køk{kt íkiÞkh ÚkÞu÷ hMkMktþkuÄrLkfkLkk h[rÞíkk {Lkkuði¿kkrLkf fkuý níkk ?
(A) fwzh (B) ÚkMxoLk (C) MxÙkUøk (D) øke÷Vzo

(46) økwshkík{kt 1960 {kt Þktrºkf yr¼ÞkuøÞíkk fMkkuxe fkuýu «{krýík fhe níke ?
(A) zkì. fu.S. ËuMkkE (B) zkì. su. Mke. Ãkhe¾
(C) «kì. xe. Ãke. ÷u÷u (D) zkì. ykh. çke. LkkÞf

(47) çkuLsr{Lk ç÷q{u hsq fhu÷ {qÕÞktfLk rºkfkuý{kt fE çkkçkík Mk{krðü LkÚke ?
(A) MkkrníÞ rLk{koý (B) yæÞkÃkLk yLkw¼ðku
(C) rþûkýLkk nuíkwyku (D) {qÕÞktfLk

(48) Lke[uLkk Ãkife fÞwt r¢Þkí{f fMkkuxeLkwt ÷ûký Au ?
(A) çkkuÕÞk ðøkh sðkçk ykÃke þfkÞ Lkrn.
(B) {qÕÞktfLk Mkk{qrnf heíku nkÚk Ähe þfkÞ.
(C) ¿kkLk, Mk{s, WÃkÞkusLk yLku fkiþÕÞkuLkwt {kÃkLk ÚkE þfu Au.
(D) yLkkiÃk[krhf heíku nkÚk ÄhkÞ Au.

(49) Z = 3 M – X  yk Mkqºk îkhk þwt þkuÄe þfkÞ Au ?
(A) {æÞf (B) rð[÷Lk (C) {æÞMÚk (D) çknw÷f

ENGLISH  (A) 
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(50) yktfzkþkMºkLke árüyu Lke[u{ktÚke fE {krníke yu «kÚkr{f {krníke LkÚke.
(A) MktþkuÄf îkhk Mkki «Úk{ ð¾ík yMk÷ MðYÃku yufXe fhkÞu÷ nkuÞ íkuðe {krníke.
(B) LkuþLk÷ MkuBÃk÷ Mkðuo ykuøkuoLkkRÍuþLk îkhk yufrºkík fhkÞu÷ nkuÞ íkuðe ¼khíkLke ðMíke økýíkheLke {krníke.
(C) ¼khíkLkk hrsMxÙkh ykurVMk, LÞw rËÕ÷e îkhk {]íÞwËh yLku sL{ËhLku ÷økíke «fkrþík {krníke.
(D) ¼khíkLke ðMíke økýíkheLke {kníke su U.N. Statistical Abstract {kt «fkrþík fhðk{kt ykðu÷ nkuÞ.

(51) yuf ðøko¾tz{kt Lke[u {wsçkLke «ð]r¥kyku Úkíke òuðk {¤u Au.
1. rþûkf rðãkÚkeoyku Mk{ûk MkkíkíÞÃkqýo heíku rðrðÄ QËknhýku hsq fhu Au.
2. rþûkf rðãkÚkeoykuLku ÃkkuíkkLkk îkhk hsq ÚkÞu÷ QËknhýku ÃkhÚke Mkk{kLÞ rMkØktík íkkhððkLkwt fnu Au.
WÃkhkuõík çku «ð]r¥kykuLku òuíkk ykÃkLku rþûkýLkk fÞk yr¼øk{Lkku WÃkÞkuøk ÚkÞu÷ òuðk {¤u Au.
(A) ykøk{Lk yr¼øk{ (B) rLkøk{Lk yr¼øk{
(C) Mk{MÞk Qfu÷ yr¼øk{ (D) ÃkqAÃkhA yr¼øk{

(52) rþûký{kt rðrðÄ yÇÞkMk¢{ku xìfTLkku÷kìSLkk {kæÞ{Úke rðãkÚkeoyku MkwÄe Ãknku[kzðk{kt WÃkÞkuøk{kt ykðíkwt
Ã÷uxVku{o DIKSHA yux÷u ...
(A) Digital Infrastructure for Knowledge Sharing (B) Digital Initiative for Knowledge Sharing
(C) Digital Interactive for Knowledge Sharing (D) Digital Interface for Knowledge Sharing

(53) Äkuhý - 11 yLku Äkuhý - 12 Lkk NCERT ykÄkrhík yÇÞkMk¢{ {kxu SWAYAM MOOCS Lkk swËkt swËkt
ykuLk÷kELk fkuMkoLkwt rLk{koý ÚkÞu÷ Au. MOOC Lku Lke[uLkk{ktÚke fÞk Lkk{Úke yku¤¾ðk{kt ykðu Au ?
(A) Module open online courses (B) Massive open online courses
(C) Mathematics open online courses (D) Management open online courses

(54) ç÷w{ xuõMkkuLkku{eLkk {wÏÞ ºký Mkqºkku{kt Lke[uLkk{ktÚke fÞk {wÏÞûkuºkLkku Mk{kðuþ Úkíkku LkÚke ?
(A) ¿kkLkkí{f (Cognitive) (B) ¼kðkí{f (Affective)
(C) r¢Þkí{f (Psychomotor) (D) yLkw¼ðkí{f (Experiential)

(55) h[Lkkí{f {qÕÞktfLkLkk MktË¼o{kt Lke[uLkk{ktÚke þwt Mkk[wt LkÚke.
(A) h[Lkkí{f {qÕÞktfLk yu ðøko¾tz rþûkýLkku yuf¼køk Au.
(B) h[Lkkí{f {qÕÞktfLk rþ¾ðkLke «r¢Þk Ãkh ¼kh {qfu Au.
(C) h[Lkkí{f {qÕÞktfLk {kxu yð÷kufLk, «§kuíkhe, ðfoMkex, «kìsuõx suðe ÃkØríkykuLkku WÃkÞkuøk ÚkkÞ Au.
(D) h[Lkkí{f {qÕÞktfLk rLkÄkorhík ÃkkXâ¢{Lku WÃkÞkuøk fheLku ykiÃk[krhf heíku fhðk{kt ykðu Au.

(56) Ãkkt[ ÷kfze A, B, C, D yLku S Au. A, B Úke LkkLke Ãký S Úke ÷ktçke Au. C íku{kt MkkiÚke ÷ktçke Au. D, B Úke Úkkuze LkkLke
yLku A Úke Úkkuze {kuxe Au. ÷kfzeLku ÷tçkkELkk Wíkhíkk ¢{{kt økkuXðíkkt [kuÚkk ¢{u fE ÷kfze ykðþu ?
(A) A (B) B (C) S (D) D

(57) P, Q, R, S, T, V, W yLku Z fuLÿ íkhV {kU hk¾eLku økku¤kfkh xuçk÷Lke ykswçkksw çkuXk Au. Ëhuf WÃkhLkk ¢{{kt çkuXk
LkÚke. S, P Lke s{ýu ºkeò MÚkkLku Au. P, V Lke s{ýu çkeò MÚkkLku Au. R, V Lke zkçke çkksw çkeò MÚkkLku yLku Q Lke
s{ýu ºkeò MÚkkLku Au. W, V Lke Mkk{u çkuXku Au. Z, T  Lke s{ýu çkeò MÚkkLku Au. íkku T Lke zkçku «Úk{ MÚkkLku fkuý
çkuXwt Au ?
(A) V (B) R (C) P (D) Q
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(50) yktfzkþkMºkLke árüyu Lke[u{ktÚke fE {krníke yu «kÚkr{f {krníke LkÚke.
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(A) Digital Infrastructure for Knowledge Sharing (B) Digital Initiative for Knowledge Sharing
(C) Digital Interactive for Knowledge Sharing (D) Digital Interface for Knowledge Sharing
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ykuLk÷kELk fkuMkoLkwt rLk{koý ÚkÞu÷ Au. MOOC Lku Lke[uLkk{ktÚke fÞk Lkk{Úke yku¤¾ðk{kt ykðu Au ?
(A) Module open online courses (B) Massive open online courses
(C) Mathematics open online courses (D) Management open online courses

(54) ç÷w{ xuõMkkuLkku{eLkk {wÏÞ ºký Mkqºkku{kt Lke[uLkk{ktÚke fÞk {wÏÞûkuºkLkku Mk{kðuþ Úkíkku LkÚke ?
(A) ¿kkLkkí{f (Cognitive) (B) ¼kðkí{f (Affective)
(C) r¢Þkí{f (Psychomotor) (D) yLkw¼ðkí{f (Experiential)

(55) h[Lkkí{f {qÕÞktfLkLkk MktË¼o{kt Lke[uLkk{ktÚke þwt Mkk[wt LkÚke.
(A) h[Lkkí{f {qÕÞktfLk yu ðøko¾tz rþûkýLkku yuf¼køk Au.
(B) h[Lkkí{f {qÕÞktfLk rþ¾ðkLke «r¢Þk Ãkh ¼kh {qfu Au.
(C) h[Lkkí{f {qÕÞktfLk {kxu yð÷kufLk, «§kuíkhe, ðfoMkex, «kìsuõx suðe ÃkØríkykuLkku WÃkÞkuøk ÚkkÞ Au.
(D) h[Lkkí{f {qÕÞktfLk rLkÄkorhík ÃkkXâ¢{Lku WÃkÞkuøk fheLku ykiÃk[krhf heíku fhðk{kt ykðu Au.

(56) Ãkkt[ ÷kfze A, B, C, D yLku S Au. A, B Úke LkkLke Ãký S Úke ÷ktçke Au. C íku{kt MkkiÚke ÷ktçke Au. D, B Úke Úkkuze LkkLke
yLku A Úke Úkkuze {kuxe Au. ÷kfzeLku ÷tçkkELkk Wíkhíkk ¢{{kt økkuXðíkkt [kuÚkk ¢{u fE ÷kfze ykðþu ?
(A) A (B) B (C) S (D) D

(57) P, Q, R, S, T, V, W yLku Z fuLÿ íkhV {kU hk¾eLku økku¤kfkh xuçk÷Lke ykswçkksw çkuXk Au. Ëhuf WÃkhLkk ¢{{kt çkuXk
LkÚke. S, P Lke s{ýu ºkeò MÚkkLku Au. P, V Lke s{ýu çkeò MÚkkLku Au. R, V Lke zkçke çkksw çkeò MÚkkLku yLku Q Lke
s{ýu ºkeò MÚkkLku Au. W, V Lke Mkk{u çkuXku Au. Z, T  Lke s{ýu çkeò MÚkkLku Au. íkku T Lke zkçku «Úk{ MÚkkLku fkuý
çkuXwt Au ?
(A) V (B) R (C) P (D) Q

(9/24)GUJARATI  (A)

(58) Lke[uLke ykf]rík{kt «§kÚko r[öLke søÞkyu þwt ykðu ?

(A) 12 (B) 10 (C) 14 (D) 16

(59) ÔÞÂõík A Ãkqðo rËþk{kt 6 {exh [k÷u Au íÞktÚke W¥kh rËþk{kt 8 {exh [k÷u Au. íÞktÚke LkiÉíÞ rËþk{kt 12 {exh [k÷u
Au íkku ÔÞÂõík {q¤®çkËwÚke fux÷ku Ëqh nþu ?
(A) 10 {exh (B) 2 {exh (C) 26 {exh (D) 4 {exh

(60) ©uýe Ãkqýo fhku.
4, 8, 9, 27, 16, 64, 25 .....?.....
(A) 101 (B) 98 (C) 100 (D) 125

(61) ykÃku÷ þçËkuLku ytøkúuS {q¤kûkhkuLkkt ¢{ «{kýu økkuXðku.
(1) TEACHER
(2) TRAINEE
(3) TUTION
(4) TUTORIAL
(5) TRAILER

(A) 1, 2, 5, 3, 4 (B) 1, 5, 2, 4, 3 (C) 1, 5, 2, 3, 4 (D) 1, 2, 5, 4, 3

(62) Lke[u ykÃku÷ ©uýe Ãkqýo fhku.
1, 2, 10, 37, .....?.....
(A) 61 (B) 47 (C) 64 (D) 101

(63) yksu Mkku{ðkh Au. 62 rËðMk ÃkAe fÞku ðkh ykðþu ?
(A) þrLkðkh (B) hrððkh (C) {tøk¤ðkh (D) çkwÄðkh

(64) ykf]rík{kt fux÷k rºkfkuý Au ?

(A) 21 (B) 24 (C) 27 (D) 28

4   5
2   3

20?

2 6
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(65) yuf ÔÞÂõík Ãkqðo rËþk íkhV {kU hk¾eLku Q¼ku Au. íku 900 Lkk ¾qýu ½rzÞk¤Lkk fktxkLke rðYØ rËþk{kt Vhu Au. Vhe
ÃkkAku ½rzÞk¤k fktxkLke rËþk{kt 450 Vhu Au. íÞktÚke ÃkkAku ½rzÞk¤Lkkt fktxkLke rËþk{kt 1800 Vhu Au. íÞkh çkkË
½rzÞk¤Lkkt fktxkLke rðhwØ rËþk{kt 2700 Vhu Au. íkku nðu íku fE rËþk{kt {kU hk¾eLku Q¼ku nþu ?
(A) W¥kh - Ãkrù{ (B) Ãkrù{ - Ërûký
(C) Ërûký - Ãkqðo (D) W¥kh - Ãkqðo

(66) Vq÷ : ÃkktËze
Lke[uLkk Ãkife ÞkuøÞ sqÚk þkuÄku su WÃkhLkk sqÚkLku hsq fhu.
(A) çkku÷ : çkìx (B) xkÞh : MkkRf÷
(C) ÃkuLMke÷ : Lkkux (D) yk¾rzÞku : ðu÷ý

(67) hksuþ ¾qçk {kuxk {kì÷{ktÚke fux÷ef ðMíkw ¾heËeLku íkuLkwt Ãku{uLx ÃkkuíkkLkk zuçkez fkzoÚke fhu Au. {kì÷Lke Mkk{u ykðu÷ {uxÙku
MxuþLkÚke íku {uxÙku xÙuLk Ãkfze ÃkkuíkkLkk ½hu Ãknku[u Au íkku hksuþ fÞkt hnuíkku nþu ?
(A) Mkwhík (B) Ãkwhe
(C) niËhkçkkË (D) òuÄÃkwh

(68) (i) AuÕ÷kt çku ð»koÚke rsÕ÷kLkku Mkkûkhíkk Ëh ðÄu Au.
(ii) rsÕ÷k «MkkMkLku AuÕ÷kt fux÷kf Mk{ÞÚke Mkkûkhíkk Íwtçkuþ MkkÚku Mktf¤kÞu÷ ÔÞÂõíkykuLke Mk½Lk íkk÷e{ fhu÷ Au yLku

íku{Lkk fkÞoLkwt rLkheûký fhðk{kt ykðu Au.
(A) rðÄkLk (i) yu fkhý Au yLku rðÄkLk (ii) yu yMkh Au.
(B) rðÄkLk (i) yLku rðÄkLk (ii) yu çkLLku Mðíktºk yMkh Au.
(C) rðÄkLk (ii) fkhý Au yLku rðÄkLk (i) yu yMkh Au.
(D) rðÄkLk (i) yLku (ii) çkLLku fkhý Au.

(69) {nuþLkwt {kuZwt ÃkqðorËþk{kt Au íku nðu 1800 õ÷kìf ðkRÍ Vhu Au íÞkh çkkË 900 yuLxe õ÷kìf ðkRÍ Vhu Au. íkku nðu íkuLkwt
{kuZwt fE rËþk{kt nþu ?
(A) Ãkqðo (B) Ërûký
(C) W¥kh (D) Ãkrù{

(70) Lke[u Ãkife fÞku ðuLk zkÞkøkúk{ rðï, yurþÞk, ¼khík yLku økwshkíkLku Ëþkoðu Au.

(A) (B)

(C) (D)
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(69) {nuþLkwt {kuZwt ÃkqðorËþk{kt Au íku nðu 1800 õ÷kìf ðkRÍ Vhu Au íÞkh çkkË 900 yuLxe õ÷kìf ðkRÍ Vhu Au. íkku nðu íkuLkwt
{kuZwt fE rËþk{kt nþu ?
(A) Ãkqðo (B) Ërûký
(C) W¥kh (D) Ãkrù{

(70) Lke[u Ãkife fÞku ðuLk zkÞkøkúk{ rðï, yurþÞk, ¼khík yLku økwshkíkLku Ëþkoðu Au.

(A) (B)

(C) (D)
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(65) yuf ÔÞÂõík Ãkqðo rËþk íkhV {kU hk¾eLku Q¼ku Au. íku 900 Lkk ¾qýu ½rzÞk¤Lkk fktxkLke rðYØ rËþk{kt Vhu Au. Vhe
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(71) ‘Ãkrhht¼’ þçËLkku Mk{kLkkÚkeo þçË þwt ÚkkÞ ?
(A) íkus (B) çkLkkðx (C) yk®÷økLk (D) ÷wå[wt

(72) þwØ þçË fÞku Au ?
(A) {çk÷¾ (B) þ]tøkkh (C) ykiãkuøkefhý (D) r«ÞðtËk

(73) ‘yu Ãkheûkk : rLkr{»k Lkrn [ûk, rðhs ðMºk, Q¼k ytíkrhûk’ - ÃktÂõík{kt hu¾ktrfík fhu÷ þçË ‘rðhs’Lkku yÚko
þwt ÚkkÞ Au ?
(A) {w÷kÞ{ (B) huþ{e (C) htøkeLk (D) MðåA

(74) ykÃku÷kt ðkõÞku{kt ‘rðæÞÚko ðkõÞ’ fÞwt Au ?
(A) ¼økðkLk ¼ßÞk nkuík íkku ¾kuxwt fkÞo Lk fhík. (B) ykx÷wt {khwt {kLkþku íkku Mkku ð»ko Sðþku.
(C) Ãknuhsu, þxo Vkze Lkk¾íkku Lknª. (D) ¼kE, fÞkO ¼kuøkððkt Au !

(75) þçË yLku íkuLkk yLkufkÚkeo þçËkuLke ¾kuxe òuz nkuÞ íkuðku rðfÕÃk fÞku Au ?
(A) {fhtË - ¼{hku, fkurf÷ (B) fkuXku - {Lk, ytík:fhý
(C) yfo - rfhý, ykfzku (D) Ãkx - Zktfý, økze

(76) ‘Ãkøk {qfe þfkÞ Lknª yuðwt’ ? - þçËMk{qn {kxuLkku yuf þçË fÞku Au ?
(A) yøkku[h (B) y®[íÞ (C) y[h (D) yAzíkwt

(77) ÃkË¢{ ÞkuøÞ heíku Mk[ðkÞku nkuÞ íkuðwt ðkõÞ fÞwt Au ?
(A) økk{{kt yuf yLkks ðu[íkku VurhÞku Ëu¾kÞku.
(B) {U yksu [k{zkLke, yuf, LkkLkfze çkuøk ¾heËe
(C) ÔÞkÞk{ðehku hkus Mkðkhu ÍzÃkÚke {uËkLk{kt Ëkuzíkk nkuÞ Au.
(D) hkus Mkðkhu {k¤e çkøke[k{kt ÍkzLku Ãkkýe ÃkkÞ Au.

(78) Lke[u ykÃku÷kt ðkõÞku{kt ‘yrÄfhý rð¼Âõík’Lkku «Þkuøk ÚkÞku nkuÞ íkuðwt ðkõÞ fÞwt Au ?
(A) íku fk÷u hkºku økÞku. (B) fqíkhe íkuLkkt øk÷wrzÞkt MkkÚku ykðe.
(C) ¼kðLkøkhÚke ytçkkS ½ýwt Ëqh Au. (D) Mk{ehu íkuLku økw÷kçk ykÃÞwt.

(79) þçËkÚkoLke ¾kuxe òuz nkuÞ íkuðku fÞku rðfÕÃk Au ?
(A) hçkeþ - yÚkoneLk (B) rn[fkhwt - neLk fkurxLkwt
(C) ystÃkku - fwXkh (D) yk~÷u»k - ¼uxðwt

(80) ¼k»kkfeÞ heíku þwØ ðkõÞ fÞwt Au ?
(A) økkuÃkk÷¼kE MkßsLk ÔÞÂõík Au.
(B) rðãkÚkeoLkwt yuf {kºk ÷ûk nkuÞ Au - W¥k{ yÇÞkMk.
(C) yk xeþxoLke þe ®f{ík Au ?
(D) ykìrVMk{kt MkVkEfk{ fhíkk f{o[kheyku yufXk ÚkðkLkk Au.

(81) ‘{trËhLke ykøk¤ yuf LkkLkfzku çkøke[ku Au.’ - ðkõÞ{kt ðÃkhkÞu÷ Lkk{Þkuøke yku¤¾ku.
(A) {trËh (B) Lke (C) ykøk¤ (D) çkøke[ku
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(82) ‘íkwtçkze{kt fktfhk nkuðk’ YrZ«ÞkuøkLkku yÚko þwt ÚkkÞ ?
(A) fþe s Mk{s Lk Ãkzðe (B) LkwfþkLk{kt ðÄw LkwfMkkLk
(C) ¼uË¼kð nkuðku (D) ðsqË rðLkkLkwt nkuðwt

(83) MktrÄLke fE òuz ¾kuxe Au ?
(A) f÷k + QŠ{ = õ÷kuŠ{ (B) Lkð + ykuZk = LkðkuZk
(C) yLkw + yu»kýk = yLðu»kýk (D) ðkfT + ykztçkh = ðkøkkztçkh

(84) rðhk{r[ökuLkku Wr[ík «Þkuøk Lk ÚkÞku nkuÞ íkuðwt ðkõÞ fÞwt Au ?
(A) yuýu fÌkwt : nwt íÞkt õÞkhuÞ ykðeþ Lknª.
(B) {k’hks, yk {kxu þwt òuEþu ?
(C) çkÄkt s ík¥ð¿kkLk (?) Mk{S þfíkk nþu ?
(D) “çkku÷u yuLkkt çkkuh ðu[kÞ”

(85) ¾kuxe òuzýe fÞk þçËLke Au ?
(A) fr{þLkh (B) Wíkwtøk (C) fr{xe (D) LkiÉoíÞ

(86) Find the different word from following words.
(A) retrieve (B) rescue (C) salvage (D) evade

(87) Neither you nor your friend was sick ................... ?
(Put a suitable question tag choosing from the given options below.)
(A) Wasn’t he ? (B) Was he ? (C) Weren’t they ? (D) Were they ?

(88) If Mr. Shah had saved money earlier, he .................. a new car.
(A) bought (B) have had bought
(C) will have bought (D) would have bought

(89) Shruti said to Neha, “You are my best friend now.” - find correct indirect speech.
(A) Shruti told Neha the she was her best friend then.
(B) Shruti told Neha that she was her best friend now.
(C) Shruti told Neha that she was her best friend then.
(D) Shruti said Neha that she is her best friend then.

(90) The lightning has a tongue of flame. Identify the figure of speech used in the sentence.
(A) Irony (B) Personification
(C) Metaphor (D)Simile

(91) Dr. Harris welcomed the members of the committee and went on ............... the subject of the meeting.
Put Proper verb form.
(A) introduced (B) introducing
(C) introduces (D) to introduce
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(92) Find out similar word for : Assault
(A) Defence (B) Beating (C) Shooting (D) Attack

(93) Select the correct sentence.
(A) Unless you worked hard, you will fail.
(B) Unless you don’t work hard, you will fail.
(C) Unless you work hard, you will fail.
(D) Unless you will work hard, you will fail.

(94) Intelligent .................... he is, he could not pass that exam.
(A) though (B) however (C) yet (D) as

(95) Parth filled ten litres of petrol to go to Ahmedabad. Select the most appropriate option to get the
underlined word as answer.
(A) How much petrol Parth filled to go to Ahmedabad ?
(B) How much petrol did Parth filled to go to Ahmedabad ?
(C) How much petrol did Parth fill to go to Ahmedabad ?
(D) How much petrol Parth fill to go to Ahmedabad ?

(96) Let her kill the mouse. Select the correct passive sentence.
(A) The mouse was killed by her.
(B) Let the mouse be killed by her.
(C) Let the mouse is killed by her.
(D) Let her kill the mouse.

(97) No sooner did I reach the college ........................ .
(Select correct option to complete the sentence)
(A) when it started to rain. (B) and it started to rain.
(C) than it started to rain. (D) after it started to rain.

(98) Neither of your friend will come. Identify the Pronoun.
(A) Distributive (B) Demonstrative
(C) Indefinite (D) Reciprocal

(99) Many times he helps those ........................ he doesn’t know.
(A) who (B) which (C) what (D) whom

(100) If you ..................... the rumour, you ...................... .
(A) had spread, would have been arrested.
(B) had spread, would have arrested
(C) had spreaded, would have been arrested
(D) had spreaded, could have arrested
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(101) The sounds produced when the vocal cords vibrate are called _______ sounds.
(A) Glottal (B) Voiced (C) Voiceless (D) Nasal

(102) Which one of the following is not an element of a sentence?
(A) Complement (B) Adverbial (C) Subject (D) Adjective

(103) ____________ is the repetition of consonant sounds in a sequence of nearby words.
(A) Alliteration (B) Hyperbole (C) Personification (D) Irony

(104) If we had more money, we could buy a car. Here “could” shows……
(A) Possibility or ability in unreal conditions (B) Past ability
(C) Present possibility (D) Present or future permission

(105) A good teacher will have a large repertoire of activities for his/her class. Here the underlined word
means…..
(A) Knowledge (B) Space (C) Stock (D) Number

(106) He will help you if you ask him. Here the underlined word refers to __________.
(A) Insistence (B) Willingness (C) Intention (D) Prediction

(107) Find out the incorrect pair.
(A) Denmark-Danish (B) Finland-Finnish (C) Spain-Spanish (D) Sweden-Swedes

(108) English today, like Sanskrit in the past, has become a lingua franca means a sort of _________ language.
(A) International (B) Urban (C) Common (D) Link

(109) No one must fool himself. Here the underlined word is used as ___________ pronoun.
(A) Reflexive (B) Possessive (C) Reciprocal (D) Relative

(110) We speak of _________ when we are considering the prominence with which one part of a word or of
a longer utterance is distinguished from other parts.
(A) Intonation (B) Rhythm (C) Stress (D) Punctuation

(111) Walking is the best exercise. Here the underlined word is used as ______.
(A) Present Participle (B) Gerund (C) Past Participle (D) Predicator

(112) I have left smoking. Replace the incorrect part by choosing an appropriate option.
(A) lost (B) gave up (C) given up (D) lose

(113) In ‘the journey of my life: from Earth to Everest- Arunima had been inspired by ___________.
(A) Bachendri Pal (B) Arunima’s sister
(C) Neema Kancha (D) Arunima’s Brother in-law

(114) In ’Palanpur youth reinvents…..’ Pranav Mistry achieved his basic education from _______school.
(A) Vivekananda Vidyamandir (B) Saraswati Vidyalaya
(C) Vividhlakshi Vidyamandir (D) Sardar Vidya Sankul

(115) In ‘Mind, Body, Medicine’, Ayurved recognizes _______ levels of healing.
(A) 4 (B) 2 (C) 5 (D) 3
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(116) You had better ______ rest for two days. Put proper verb.
(A) took (B) take (C) taking (D) taken

(117) The process by which the waste products leave the body is called________.
(A) digestion (B) circulation (C) excretion (D) respiration

(118) In ‘pepper: the phantom pet’…what did Shama have as pet?
(A) Persian cats (B) Pepper- the monkey
(C) Rottweiler- a dog (D) Angora rabbits

(119) Immensely rich ___________ Mr. Kartik is, he is a miser. Fill in the blank with a proper word.
(A) though (B) however (C) as (D) In spite of

(120) My mother wrote Bhargav a letter. Name the case of the underlined word.
(A) dative case (B) vocative case (C) accusative case (D) nominative case

(121) The hotter the food is, the more molecules will be released while chewing. Select the word which can
be best replaced with the underlined word.
(A) variables (B) properties (C) element (D) atoms

(122) In ‘First Aid’ a tourniquet helps in _______ flow.
(A) increasing blood (B) reducing blood
(C) complementing blood (D) normal blood

(123) Identify the odd word.
(A) enthusiasm (B) mysterious (C) independence (D) innocence

(124) Join ‘A’ with ‘B’
           A       B
1) Country side a) float
2) Patch b) twist
3) Buoy c) rural regions
4) Tangle d) small area
(A) 1-c, 2-d, 3-a, 4-b (B) 1-c, 2-d, 3-b, 4-a
(C) 1-d, 2-c, 3-a, 4-b (D) 1-d, 2-b, 3-c, 4-a

(125) He came to my house with a view to ________ my papa.
(A) meet (B) met (C) meeting (D) being met

(126) It is too early to wake up. Select sentence with similar meaning.
(A) It is so early that we can wake up. (B) It is so early that we could not wake up.
(C) It is too early that we can not wake up. (D) It is not so early that we can not wake up.

(127) She asked to her brother      what he was doing       when she entered       into the house.
                1                   2                3                              4
Select incorrect part of the sentence.
(A) 1 (B) 2 (C) 3 (D) 4
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(128) In “Magnificent Mary’, Mary was a trained boxer by __________.
(A) Dingo Singh (B) Kripal Singh (C) Narjit Singh (D) Harpal Singh

(129) As per the text, Lajja won medals twice in _________.
(A) International shooting competition (B) Commonwealth games
(C) Asian games (D) I.S.S.F. world cup

(130) Select the correct sentence.
(A) Unless you read well, you will fail in the exam.
(B) Unless you read well, you will not fail in the exam.
(C) Unless you do not read well, you will fail in exam.
(D) Unless you not read well, you will not fail in exam.

(131) A thing or person of little value is known as _________.
(A) Philatelist (B) Extempore (C) Despicable (D) Orthodox

(132) The stricter you are, the worse the growth of the child is.  Select the correct function of the sentence.
(A) Comparison (B) Result (C) Contrast (D) Double comparison

(133) Select the word nearly opposite in meaning: dwell: _______.
(A) live (B) migrate (C) brood (D) inhabit

(134) In ‘Unforgettable Walt Disney’ Walt’s first series was ________.
(A) Oswald, the Rabbit (B) Mickey
(C) Alice in Cartoon Land (D) Pinocchio

(135) __________, I would have attended your wedding reception. Complete the sentence with correct
option.
(A) If you had sent me the invitation (B) If you sent me the invitation
(C) If you have send me the invitation (D) If you send me the invitation

(136) He is ________ on fulfilling his dreams.
(A) grinned (B) hell bent (C) dissent (D) riveted

(137) Unlike Sunil, Kohli plays fast. Select the language function of the above sentence.
(A) expressing manner of action
(B) comparing people
(C) making supposition of an action
(D) talking about person, place, thing in relation to something

(138) In ‘Manage your stress’, which of the following processes, if doesn’t take place in your mind, induces
chances of your failing the exam?
(A) tangling of information (B) flicking of information
(C) retrieval of information (D) drifting of information

(139) If you become _______, you don’t stay ________.
(A) belligerent, decent (B) wrought, abolished
(C) freight, disparage (D) grieved, unscrupulous
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(140) In the ‘Adjustment’, ‘He would keep quibbling with her all the time.’ Select the correct option that
conveys the meaning of the above sentence.
(A) He kept on opposing her all the time.
(B) He kept on fighting with petty issues all the time.
(C) He kept on objecting over petty issues all the time.
(D) He kept on worrying about her all the time.

(141) Gandhiji was a great man ________ we respect very much. Put proper connector.
(A) who (B) whom (C) whose (D) when

(142) Raj said to Shyam, “Hurray! We have won the match today.” Turn into indirect.
(A) Raj told Shyam that they had won the match that day.
(B) Raj exclaimed with joy to Shyam that they won the match that day.
(C) Raj told Shyam that they have won the match that day.
(D) Raj exclaimed with joy to Shyam that they had won the match that day.

(143) Which ants are the most ferocious kind of ants in the lesson ‘Ants’?
(A) Driver Ants of Africa (B) Umbrella ants of South America
(C) Red Ants of Europe (D) Black Ants of North America

(144) What impact will automated fabrication have on society?
(A) Naturally talented village craft workers will be back with a bang.
(B) Mass production will increase.
(C) Smaller and community-based facilities will disappear.
(D) Factories will be centralized.

(145) How many families lived at the height of Doom in Kangad?
(A) 300 (B) 400 (C) 500 (D) 200

(146) Which form of the element carbon is unstable and weakly radioactive?
(A) Carbon 12 (B) Carbon 13 (C) Carbon 14 (D) Carbon 11

(147) Complete the sentence: In the modern developed world, our problems are ___________.
(A) mainly physical (B) mainly psychological
(C) mainly physiological (D) mainly mental

(148) What did Lajja Goswami play with in her childhood?
(A) Dolls (B) Toys (C) Guns (D) Musical instrument

(149) What is the name of Mary Kom’s autobiography?
(A) Breakable (B) Unbreakable (C) A Champion (D) Magnificent Mary

(150) What is the arched stone bridge compared with in the poem?
(A) An eye (B) A mouth (C) A flag (D) Chimneys

(151) With which profession does Pratik’s IQ match?
(A) A teacher (B) An artist (C) A scientist (D) A doctor
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(152) Savi said to Sneha, “Let’s visit Kedarnath during this vacation.” Find the correct sentence converted
into indirect speech.
(A) Savi suggested to visiting Kedarnath during that vacation.
(B) Savi suggested that they should visit Kedarnath during that vacation.
(C) Savi told to visiting Kedarnath during this vacation.
(D) Savi suggests visit Kedarnath during that vacation.

(153) Unless you attend the classes regularly __________. [Complete it selecting the sentence showing
condition.]
(A) you would not understand the topic. (B) you shall understand the topic.
(C) you will not understand the topic. (D) you will now understand the topic.

(154) Select the most appropriate response.
Pratyush: Why did you lift the box?
Sweety: _______________ (Showing reason-result.)
(A) The box is too heavy for me to lift. (B) The box was too heavy for I to lift.
(C) The box is heavy enough for me to lift. (D) The box was heavy enough for me to lift.

(155) Say true (T) or false (F). Select the correct answer.
1. Be heroes in an army of construction.
2. The family was frightened by Morri’s depiction of India.
3. Delete the phrase I can from your vocabulary.
 (A) 1-F, 2-T, 3-F (B) 1-T, 2-F, 3-F (C) 1-F, 2-F, 3-T (D) 1-T, 2-T, 3-F

(156) When should one take the print out from the printer?
(A) when it is absolutely inevitable. (B) whenever we want.
(C) whenever unnecessarily (D) whenever we want to do proof reading.

(157) What is headache?
(A) A curse conferred on mankind (B) A great embarrassment
(C) Very unfair, undesirable thing (D) An excuse, an elegant falsehood.

(158) What amount of money did gentleman from Maw and Meggins handover to Mrs. White?
(A) 200 pounds (B) 100 pounds (C) 250 pounds (D) 150 pounds

(159) From which countries did Helen Keller read papers and magazines?
(A) England, France, Austria, Greenland (B) England, France, Austria, Greece
(C) England, France, Germany, Austria (D) England, France, Germany, Argentina

(160) What does the poet read in the lines of foreign men’s hands?
(A) A labour different from our own (B) A labour not like our own
(C) A labour deprived with (D) A labour not different from our own.

(161) What does the old man do sitting on the stony bank of the river?
(A) Swims humming a song (B) Weaving a yard of rainbow
(C) Weaving a cloth of nature (D) Weaving a yarn of rainbow
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(162) What is Dr. K.D. Kamble?
(A) A psychiatrist (B) A physician (C) A naturopath (D) A neurologist

(163) What was Walt Disney to the bankers who financed him?
(A) A complex man (B) A warm, kindly personality
(C) A Wildman hell-bent for bankruptcy (D) A genius

(164) Match the words with their meanings
       A        B
(a) Defile 1) eternal
(b) Everlasting 2) calmness
(c) Orchard 3) spoil
(d) Tranquility 4) plantation
(A) a-3, b-1, c-4, d-2 (B) a-1, b-3, c-2, d-4
(C) a-3, b-2, c-4, d-1 (D) a-2, b-4, c-1, d-3

(165) Tick mark true (T) or false (F)
(a) Tele touch lets you interact with world with touch from a distance.
(b) Conversation of forest is not our moral duty.
(c) Surya Namaskar is an ancient form of yoga.
(A) a-T, b-T, c-T (B) a-T, b-T, c-F (C) a-F, b-T, c-T (D) a-T, b-F, C-T

(166) Select the most appropriate question to get the underlined word/phrase as answer:-
Coffee will be served in a few minutes?
(A) When will coffee be served? (B) How will coffee be served?
(C) Why will coffee be served? (D) When would coffee be served?

(167) Fill in the blanks with appropriate words :-
The ants began ________ the small bits of these______ up to their __________.
(A) fetch, insects, hill (B) bringing, animals, anthills
(C) fetching, insects, anthills (D) brought, birds, anthill

(168) When do red ants ambush the nest of the black ants?
(A) when they want slaves (B) when they want honey like liquid
(C) when they want to do farming (D) when they want greenflies

(169) Complete the sentence.
If he had invited me, ____________ (showing condition)
(A) I would have attend the party. (B) I shall have attended the party.
(C) I will have attended the party. (D) I would have attended the party.

(170) Complete the sentence.
Beautiful as Kinjal was _____________. (Showing contrast)
(A) She can win the beauty contest. (B) She could not win the beauty contest.
(C) She could won the beauty contest. (D) She could not wins the beauty contest.
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(171) Select the most appropriate response.
Hitarth: Why do you eat banana?
Shivani:______________. (Showing comparison)
(A) Banana is one of the list delicious fruits. (B) Banana is one of the most delicious fruits.
(C) Banana will one of the most delicious fruits. (D) Banana is the delicious fruits.

(172) Select the most appropriate question to get the underlined word as answer:-
Monali speaks English fluently.
(A) Which language did Monali speak fluently? (B) Which language do Monali speak fluently?
(C) Which language does Monali speak fluently? (D) What did Monali speak?

(173) Find the nearest meaning of the word:- brittle.
(A) soft and fragile (B) hard but easily breakable
(C) resilient (D) flexible

(174) Find the correct answer:-
What was cooked by Shruti in the morning? (doer is important)
(A) What does Shruti cook in the morning? (B) What do Shruti cook in the morning?
(C) What will Shruti cook in the morning? (D) What did Shruti cook in the morning?

(175) Do as directed:-
My friend is a good girl. She gets up early in the morning. She washes clothes everyday. Start like this:-
My friends are ___________.
(A) My friends are good girls. They get up early in the morning. They wash clothes.
(B) My friends are good girl. They gets up early in the morning. They washes clothes.
(C) My friends are good girl. Them gets up early in the morning. Them wash clothes.
(D) My friends are good girls. They gets up early in the morning. They washing clothes.

(176) Select the most appropriate response.
Anjali: How does Shesha walk?  (showing supposition)
(A) Shesha walks like an actress. (B) Shesha walks as an actress does.
(C) Shesha has walks as if she was an actress. (D) Shesha walks as if she were an actress.

(177) Tick mark the appropriate option:-
In the poem ‘Shaper Shaped’, the poet wishes to surrender to God because _________.
(A) He wants to acquire emeralds and pearls.
(B) He has learnt the truth of mortality of living being.
(C) He wants to win hundred battles.
(D) He wishes to impress others.

(178) Turn into indirect speech:-
“What a beautiful piece of work!” said Prabhu
(A) Prabhu exclaimed with praise that what a beautiful piece of work.
(B) Prabhu exclaimed with praise that it was indeed a beautiful piece of work.
(C) Prabhu asked what a piece of work.
(D) Prabhu exclaimed with joy that it is indeed a beautiful piece of work.
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(179) Complete the sentence:
The teacher came to my house ________________.
(A) so to meet my father. (B) with a view to meet my father.
(C) in order that to meet my father. (D) so that he could meet my father.

(180) Identify the function:
However well Tejal performed, she did not get prize.
(A) Contrasting (B) Showing preference
(C) Showing purpose (D) Showing result

(181) In which classroom learning activity classroom can become chaotic if work distribution is not planned
and students remain confused, thus demand attention?
(A) Individual learning activities (B) Role playing
(C) Text based activities (D) Peer or group activities

(182) Which techniques can be combined in Realia for both the presentation phase and the practice phase of
the lesson?
(A) vocabulary and grammar activities (B) puppets and name the object activities
(C) story telling and role play (D) correction and feedback activities

(183) Which teaching resource developed by Shaw and Tylor in 1978 and referred these aids as “non pictorial
visuals”.
(A) graphics (B) movies and dramas
(C) roll up board (D) digital projects

(184) Fill in the blank with appropriate word.
_________ are versatile and useful resources for teaching aspects of grammar that require structural
meaning match.
(A) Comparison (B) Graphs (C) Puppets (D) Pictures

(185) Fill in the blank with appropriate word.
A way of dealing with something, a way of doing or thinking about something is considered
as________.
(A) an exercise (B) techniques (C) methods (D) approaches

(186) Which method came into existence as a reaction and opposition to the Grammar-Translation Method?
(A) Grammar Transparent Method (B) Interactive Method
(C) Direct Method (D) Constructivist Method

(187) Which kind of reading is mainly meant for comprehension?
(A) Silent reading (B) Loud reading (C) Drill reading (D) Soft reading

(188) Fill in the blank with appropriate word.
____________ means any one of the smallest units of speech and language that distinguishes one word
from another.
(A) Phonetics (B) Phoneme (C) Word (D) Morphemes
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(189) ________ involves glancing rapidly through the text to find out some specific piece of information.
(A) Skimming (B) Scanning
(C) Extensive reading (D) Intensive reading

(190) ‘The students sell the words correctly’… is one of the specific objectives of ______ skill.
(A) Listening (B) Speaking (C) Reading (D) Writing

(191) ________ is concerned with what happens in the actual class room.
(A) Approach (B) Procedure (C) Method (D) Technique

(192) Sometimes, because of the loss of vision, a child is not able to read and interpret a text. In such situation
a child may be helped by ________.
(A) placing him/her near the board
(B) giving instructions sitting around an ease/ where words are written in large font-sizes
(C) providing a large-point written materials
(D) All of the above

(193) A/An __________ test is given to assess a student’s ability to communicate in future actual
situations.
(A) Aptitude (B) Achievement (C) Proficiency (D) Diagnostic

(194) __________ language learning and teaching from form based to meaning based is known as _______
approach.
(A) situational (B) structural (C) direct (D) communicative

(195) The use of ________ in an ESL classroom enables students to explore the linguistic and conceptual
aspects of the written text without concentrating on the mechanics of language.
(A) Prose (B) Poetry (C) Vocabulary (D) Grammar

(196) ____________ refers to the correspondence of two or more words with similar sounding final syllables
placed so as to echo one another.
(A) Rhyme (B) Simile (C) Pun (D) Metaphor

(197) _________ is concerned with relevance that is, whether the test actually tests what it aimed to test or
not.
(A) Reliability (B) Practicality (C) Validity (D) Objectivity

(198) _______________ deals with reproduction of sounds.
(A) syntactic (B) semantic (C) phonic (D) morphic

(199) Which is not a role of the teacher?
(A) Diagnostician (B) Facilitator (C) Physician (D) Planner

(200) Which plan is broader in nature and considered for the whole textbooks and the course curriculum in
hand for the duration of whole academic year.
(A) Monthly plan (B) Unit plan (C) Lesson plan (D) Yearly plan





(22/24)ENGLISH (A)

(189) ________ involves glancing rapidly through the text to find out some specific piece of information.
(A) Skimming (B) Scanning
(C) Extensive reading (D) Intensive reading

(190) ‘The students sell the words correctly’… is one of the specific objectives of ______ skill.
(A) Listening (B) Speaking (C) Reading (D) Writing

(191) ________ is concerned with what happens in the actual class room.
(A) Approach (B) Procedure (C) Method (D) Technique

(192) Sometimes, because of the loss of vision, a child is not able to read and interpret a text. In such situation
a child may be helped by ________.
(A) placing him/her near the board
(B) giving instructions sitting around an ease/ where words are written in large font-sizes
(C) providing a large-point written materials
(D) All of the above

(193) A/An __________ test is given to assess a student’s ability to communicate in future actual
situations.
(A) Aptitude (B) Achievement (C) Proficiency (D) Diagnostic

(194) __________ language learning and teaching from form based to meaning based is known as _______
approach.
(A) situational (B) structural (C) direct (D) communicative

(195) The use of ________ in an ESL classroom enables students to explore the linguistic and conceptual
aspects of the written text without concentrating on the mechanics of language.
(A) Prose (B) Poetry (C) Vocabulary (D) Grammar

(196) ____________ refers to the correspondence of two or more words with similar sounding final syllables
placed so as to echo one another.
(A) Rhyme (B) Simile (C) Pun (D) Metaphor

(197) _________ is concerned with relevance that is, whether the test actually tests what it aimed to test or
not.
(A) Reliability (B) Practicality (C) Validity (D) Objectivity

(198) _______________ deals with reproduction of sounds.
(A) syntactic (B) semantic (C) phonic (D) morphic

(199) Which is not a role of the teacher?
(A) Diagnostician (B) Facilitator (C) Physician (D) Planner

(200) Which plan is broader in nature and considered for the whole textbooks and the course curriculum in
hand for the duration of whole academic year.
(A) Monthly plan (B) Unit plan (C) Lesson plan (D) Yearly plan



(23/24)ENGLISH (A)

hV fk{ {kxuLkwt ÃkuRs



(24/24)ENGLISH (A)

hV fk{ {kxuLkwt ÃkuRs

Ãkheûkk Ãkqhe ÚkÞk çkkË W¥khÃkºk (OMR SHEET) ¾tz rLkheûkfLku ¾wÕ÷wt (fðh{kt
{wõÞk ðøkh) Ãkhík fÞko çkkË s Ãkheûkk ¾tz AkuzðkLkku hnuþu. íku{ fhðk{kt fMkqh ÚkÞuÚke
rþMík¼tøkLkk Ãkøk÷kt økýe Ãkheûkk {kxu su íku W{uËðkhLku økuh÷kÞf Xuhððk{kt ykðþu.


